练习一参考答案
　　
　　=（6.63+4.37-1）×45
　　=10×45
　　=450
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　　=[10×1.44]÷1.2
　　=12
　　3.33333×66666
　　= 33333× 3× 22222
　　=99999×22222
　　=（100000-1）×22222
　　=2222200000-22222
　　=2222177778
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　　15.1×2+2×3+3×4+……+99×100
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　　=333300
　　16.5×6+6×7+7×8+……+19×20
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　　=2660-40
　　=2620
　　17.1×3+2×4+3×5+……+48×50
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　　=39200＋1176
　　=40376
　　18. 20×22+21×23+22×24+……+98×100
　　[image: image16.jpg]:% X 98X QQXIOOV% X19X 20X 214 (20+ 214 -+ + 98)




　　=323400-2660＋4661
　　=325401
　　19.解：设2+0.38+49=a，0.38＋0.49=b，
　　则a-b=2
　　原式=a（b+0.5）- b（a+ 0. 5）
　　= ab+ 0.5a- ab- 0.5b
　　＝0.5(a-b) 
　　= 0.5×2
　　=1
　　20.解：设0.123＋0.234＋0.345=a，
　　0.234＋O.345＝b，
　　则 a-b＝0.123
　　原式＝a（b＋0.456）-b（a＋0.456）
　　＝ab＋0.456a-ab-0.456b
　　＝0.456(a-b)
　　=0.456×0.123
　　=0.056088
　　21.化简后整数部分是199。
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